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Q. T 7 AIAT ATAT #ht Tzt 10 THHT T 40
FoRHT/=roaT st i Ed =Tel | 94T Q9 45 frdt g
60 feRHT/=reT i ST =TT ¥ aF Ll gl &9 =l

HEQUT ATAT ! ST ATA 2.

Q. A bus covers the first 10 km of its journey
at an average speed of 40 km/hr and the
remaining 45 km at an average speed of?f

km/hr. The average of the bus for t 8) 92.5
entire journey Is:/~

m/h

(b) 55 km/h
(c) 50 km/h
(d) 57.5
km/h
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Q. TF FIX 24 H1aX U2 9T 456 T Question

\

TAAT gl 19 FIeX Uarer 9L Tg Tohae

e e I Tehail g 2

Q. A car runs 456 km on 24 liters of
petrol. How many kilometers can it
run on 19 liter

(a) 342
THT/km
(b) 361
TRHT/km
(c) 323
THT/km
(d) 399
Ret/km
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Q. T FX TH THAT T 2T 30 ThHT/=veT
Sl AT | 3T I a1a oot fohdt ot g
40 ToRHT/=EraT &t AT | Fordt gl 2 et
forT &1L &t 3irea =Ter (Thdt/=veT /) &

Q. A car travels a distance of one km at
the speed of 30 km/hr and then the next

km at the speed of 40 km/hr. The (a)

average speed gw@?hgﬁf the carfor2  33(3/7)

Km is: /—5\0@ " (b)
33(5/7)
(c) 35
(©)
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Q. 3T 92T A ¥ B TF €Y T a7 185 Rt g7 #) mURRon
qag 7 997 A H ¢[F 31T & 3T 35 Trd1/=er &t ia & B =i
AL FAAT 2| Teh T FIL g 8 Il B H & Il g X 15
FoRHt/=eT sl ITfa & A ot 3T Foral gl o e a0 e r?

Q. Two cities A and B are 185 km apart on a straight
road. A car starts from A at 7 am and travels towards B at

a speed of 35 km/hr. Another car starts from B at 8 am
and travels towards A ata %eed of 15 km/hr (8YHdt &ife

will they meet? \\ _":' (b) 10:30
\ am

(c) 10 am
(d) 11:45
am
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Q. T SFHT &7 e get 2 km =t I73A7 o forw T 40 &t
qTET fR@Tar g &Y 39 a18 I km =t J1=7 6 o7 % 15 7
ATST fQETAT g1 |G 7 9 FL F I S ThHE =hl JTAAT
forw % 190 T fa=m S99 | 39 AT &l T4
fhadt g ?

Q. A taxi meter shows charges of 40 for the first two
km of journey and %15 for every subsequent

travelled. Mohan pa 5%19% s fare to travel f 1@
vt s i

house to his office. ovﬂﬁ his office from L)

TFHT/km
(c) 14
TFHT/km
(d) 10

N O\ .,
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Q. TF 99 6.6 =< H 267.3 feheardia< &t

0 T FLAT g1 T8 g1 Iiaser a7 i1 T

AT 2 8
Q. A bus covers a distance of 267.3 km
In 6.6 hours. The average distance

covered by the bus per hour is: (a) 4.05
<; 20| ke

(b) 40.5

FrdT/km

(c) 41.5

ToHT/km

(d) 50.4

FrdT/km
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Q. TS ST 12 TRH1/=0T T 3Ha A1

A I Tl U= H 20 e «dr 2

7 ag 5 e ¥ Tt ug=dT 918, @

IRt AT TohH/=rvay T

Q. A boy takes 20 minutes to reach

school walking at an average speed

of 12 km/hr. If he wants to reach the (a) 14
school in 5 minutes, hi speed in (b) 16

km/h will be: \/ m (c) 48

(d) 60
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Q. 72T 10 Frefi/ear 7 T F Torae e fg Question
15 fohet/=aT st a7 & Argiehe ITd U U

AL S dTF A 2| Tie o 36 A< & 913

et 8, ar s=era | 39+ o 1= fohaT g

ofT7?

Q. Neha walks at 10 km/hr and Reetu

cycles at 15 km/hr towards each other. (3) 10
What was the di etween them  f&rei/km
when they starteZc/I( if th)y eet after 36  (b) 12
minutes? "> FHT/km
(c) 15
TrHT/km
CRE:
rdHT/km
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Q. T ATeF TA 55 /s & v Ay Question

T T FLAT g AR 45 THAT/ET § IT99 7]

g1 29 T ATAT =l {8 T T

Q. A bike rider covers a certain distance at

55 km/h and comes back at 45 km/h. Find

the average speed of this whole journey gy 42 5

/i =)ol km/hr

) (b) 44.5
km/hr
(c) 49.5
km/hr
(d) 48.5
km/hr
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Q. 7% Hrew 45 Fedi/eiar 61 1 & e ey o
g, a1 3T 400 AT T T T FLF § fohe=

JHIT I ?
Q. If Mohan drives the car at a speed of 45

km/hr, then how much time will it take him
to cover a dista
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Q. T <k a9 § Uah fAfsra & &1 45 duestion
Ferdt/ee & a9 40 e Hag #ar g,

=9 T AT 30 THae 7 T 3T o a9 &t

Tt =T fohaAT S I 9897 ?

Q. A person covers a certain distance by

pus at a speed of 45 km/h in 40 minutes,
oy how much should the speed of the bus

be Increased to (a) 10

distance in 30
minutes? ) j km/hr
(b) 12

km/hr
(c) 15
km/hr
(d) 18
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Q. 7f% 1€ =it v Ffom g oy g Question
T o (5/8)d AT & 9T T gl T 3w
ATAT LT T Iga+ | 24 T srfges o 2|
ST 8 o T | ATAT FHLAT gl I Foha1
T AT 57
Q. If a person covers a certain distance
with (5/8)th of its original speed. Then he
takes 24 minutes more to reach its (a) 20
distance. What js the time taken by him  f&5=/min.
when travels with ofiginal speed ? (b) 30
S e </min.
(c) 40
A </min.

(d) 50
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Q. T A=A 15 FrvEE Ay iy A e
H THeT STTAT 8 3 ¥ Iid F a9 A0l g,

TTa el TR IHhT e T 5 Thd 1/

g, AT ATI9 3T THT IEeh! T Teha«t HT7?

Q. A girl goes to school by bicycle at a

speed of 15 km/h and returns at a

lesser speed, if her average speed

overall is 5 km/ )Nﬁat vas her speed (@) 9 km/hr
while returning /_f (b) 7 km/hr
f (c) 5 km/hr

(d) 3 km/hr
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QAR P Qfr MR Faqma 53 qQ  Aueston
#1 v Afera ot ag Fa § P v qeer
12 TR Afers oRrq g1 P &1 a8 11 T

F4A U TohaAT GHT TET?

Q. If the ratio of speed of P and Q is 5:3.
Then Q takes 12 minutes more to cover
a certain distance. What is the time

taken by P to c YB/fﬁ ame distance ? (g) 15
‘ fH=e/min.
(b) 18
fH=e/min.
(c) 20
fHee/min.

(A\ DR

/\—
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Q. TF ¥ a8 6 T UF FX F1 T F05 60 Pt/ arestion
AT | ARTAT gl g 6:30 I AT T Iaq7 FoAd 92 Iford
a1 80 TehH/= T =TT | AL &7 di=r FhaT STar 2|

qiere, FC FT e FH1T Tohg o 17

Q. A thief steals a car at 6 a.m. and runs away with a
speed of 60 km/hr. When the theft is discovered at

6:30 in the morning, the thief is chased b3$1the olics
at a speed of 80 km/hr.-At what time wilkd g%gﬁﬁz /8
am

catch the thief? | 20 1
S (b) g2 8:30
91/8:30 am
(C) gag 9 151/9
am

(d) g=ig 7:30
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Q. T 7 400 Fft AT=T 2ATE SRt & v sy Question
3! FeA ATAT T (1/5) AT AT IHA FHieT AT

T (2/5) T 1L GTLT qAT A9 ITAT TS T 5T

Tl | LTSl GIRT a7 ol T ATAT i g3l g2

Q. Monu traveled 400 km by air which was

(1/5)th of his total journey. He covered

(2/5)th of the total journey by car and the (a) 800
rest by train. Wh ;s/tﬁ tance coveredg o,

o \ _'_
by the train” ' (b) 1000

TFHT/km
(c) 1200
TFHT/km
(d) 600

S /km







